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1) a) addition and scalar multiplication

b) 2×3 matrices

c) BA ,
4×3
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3) a ) of ducts )
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Taking cube roots
,

deff A) f- O ,
and so A is

invertible .



b) Let A- [ fool , B
-

- [ fo
' I

At B -

- [ fo
' )

,
ACB fool)

A :[ to ] ,
B

"
- [ 881

AB
-

- [ go
' )

A 't 2 ABT B' = [ to} ) tf Yo)



4) is zero vector [ Oooo ]
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ji ) Scalar multiplication :
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Iii ) Addition
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5)
zero vector : Orto
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does not fail

scalars
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addition '

.v=(
110,0 , 1) C- S

G- C- 40,0 , ) C- S

but vtw= ( o
, 0,012 )

01=2 ,
so vtwcfs .


